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First Name Class
Last Name Date
TOTAL
MARKS /20
1 Circle the most formal options shown below. > Which two options are the most formal?
show up
say sorry / apologise
arrive
go up / increase
obtain
decrease / go down
get
1 mark 1 mark
Ci . L
incle the most impersonal option in the Which two options are the most informal?
3 brackets shown below. 4
put up
seem
The children were hoping to (get / obtain) a
sample of some dinosaur fossils.
tolerate
appear
1 mark 1 mark
Circle the correct homophone in the sentence Circle the correct homophone in the sentence
5 shown below. 6 shown below.
The boy's ther / fath S dof h
Gosh, that's as heavy as (led / lead). & boy .(fm.‘ er / father) was proud of how
he was doing in school.
1 mark 1 mark
Insert one hyphen into th t place in
ert one hiyphen into The correct place | Which sentence uses the hyphen correctly?
7 the sentence below. 8
Inside the windowless-room, it had
suddenly become pitch black.
Inside the windowless room, it had
In the mines, it was pitch black and oxygen suddenly become pitch-black.
was in short supply. Inside-the windowless room, it had
suddenly become pitch black.
Inside the windowless room -it had
1 mark suddenly become pitch black. 1 mark
Insert a comma into the correct place in the Tick the sentence below that uses commas
Q | sentence below. 10 correctly.
In London, you can find the Tower of,
London.
In London you can find the, Tower of
Feeling anxious Ewan read his poem in front of London.
the class. In London, you can find, the Tower of
London.
In London, you can find the Tower of
1 mark London. 1 mark
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Insert a pair of commas into the correct
place in the sentence below.

Carefully with only a few small wobbles the
tightrope walker made it to the end of the
rope.

12

Which sentence uses commas correctly to show
parenthesis?

The gardener, using his tools was able o
weed three gardens in an afternoon.

The gardener, using his tools, was able to
weed three gardens in an afternoon.

The gardener using his tools, was able to
weed three gardens in an afternoon.

The gardener using his tools was able to

1 mark weed three gardens, in an afternoon. 1 mark
13 | Insert a pair of dashes in the correct place in 14 Which sentence uses dashes to show
the sentence below. parenthesis correctly?
The boat which was fast filling with
water - was definitely going to sink.
The boat - which was fast filling with
Eadie who was very well mannered won the water - was definitely going to sink.
golden award in assembly on Friday. The boat - which was fast filling - with
water was definitely going to sink.
The boat - which was fast - filling with
1 mark water was definitely going to sink. 1 mark
15 | Insert apair of brackets in the correct place 16 Tick the sentence which uses brackets
in the sentence below. correctly.
Begrudgingly, (the children went outside)
in the frightfully unfriendly rain.
Begrudgingly), the child t outsid
Annabelle who was much younger than her ( egrd gmg V). the ¢ I ren wgn outside
. \ in the frightfully unfriendly rain.
sister always held her mum's hand when - - -
. Begrudgingly, the children went outside
crossing the road. . . . .
in the (frightfully unfriendly rain).
Begrudgingly, the children went outside
1 mark in the (frightfully unfriendly) rain. 1 mark
17 In the senTence belotlv, c:'rcle the two nouns 18 Tick the noun shown in the list below.
and underline the adjective.
battering
horrendous
Jolly Harry was always seen with a smile.
along
weather
1 mark 1 mark
19 In The.senTence below, circle the verb and 20 Tick the adverb shown in the list below.
underline the adverb.
inquisitively
toothpaste
The car sped fast through the city streets.
peppermint
she
1 mark 1 mark
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1. Please see a guidebook for your information. [ __
2. Tuck will be from the canteen at break. __
3. The number of correct answers is 8. __
4. Mum felt the plant didn't look very good. __
5. Her decision was to decide who would win. __
6. Dads situation was good as he had a job. __
7. The process would find him guilty or

innocent.
8. The piece of paper was put into the
photocopier for testing.
9. media can be a good thing buft is also very
dangerous. D
10. The district is in the middle of the city.
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